
 
 

 
 

Gen3 Mitsubishi Montero (2001-2006)  
Installation Instructions - Steel - Transmission Skid Plate (VA-LO-M3-3B-3SBP) 

Hardware: 
4x M8x25mm high tensile bolts   4x M8 lock washers   
4x M8 flat washers     2x M8 nyloc nuts 
2x clamp plates 
 
This skid plate has been designed to mount to the vehicle with no permanent modifications required. 

1. Assemble 2x M8 bolts with a lock washer, then flat washer. Lift the skid plate into position and 
use the bolts to loosely attach the front of the transmission skid plate to the 2 mounting brackets 
at the rear of the engine crossmember.  

2. Assemble the remaining 2x M8 bolts with a lock washer, and then flat washer and feed them 
through one of the two holes at the rear of the skid plate. Then place a clamp plate over the top 
of the bolt so that it pinches the rear lip of the transmission crossmember and then secure 
loosely with a nyloc nut. Repeat on the other side. 

3. After confirming that the skid plate is the desired position, tighten up all of the bolts. 

4. It is recommended that all bolts are checked regularly. 

 

 

 

 


